1. Does the following sequence converge or diverge? If it converges, find its limit. Explain your answer.
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. Compute the follov infinite sum. Explain your answer.
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3. Does the following infinite series converge or diverge? Explain vour answer

(a)

oo

Z n? +4n — 3
Answ&’ . C‘an\/eré/és\ nt+dn? — 3
e , .
t>' ﬂ(_@{ Ql’l = /7 * Vﬂ > MCZ b” = n'ii
n’¢4 ¥Yn* -3
2
W ) 6244 — él/wa (Lﬂ_{i /_i )
N> o n>o \ n"y Yn7-3 n
&Vﬂ n+ ‘/n —-3/72 _ ZW/) 1+
a n-.o

Y =4
I nt=
T Va3 P
=1 . Since 2> b= 2 M_L‘L Cﬁnv&%?f
(E;/gw gka/;/mv-)/e 3 on p 2SE) 57 Che
A,Wvl Co m;%_\'?:e\si (Thm 11 p 762) g’an Converges

N

—

(b)

n{2n
~ Ancwer: Diverges -
A bnn _ Cnnr _ 614//
L= _ 75
Gn(zn) énz+€nn T + 1
mA(S' /5014/1 Do = é?&m 6;/2
n-> .o -0 Z—{,’—— + 1
rt
_ 0// y - 4 e hnn F+co
+

T D e s = a. dwegg;s by the

poth Term Test doc Picegenee (see Thm 7

since  lim Gn =4 + O

N-s o0

en p 750) .




4. Determine whether the following infinite series absolutely converges, conditionally converges, or
verges. Give reasons for your answer.
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5. Find the radius and interval of convergence of
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For what values of 2 does the series conv erge absolutely? For what values of 2 does the series converge
conditionally?
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6. (Bonus Problem)

(a) Show that if °°° @, is a convergent series of nonnegative numbers then ) 7 | a2 couverges.

[a'e]
(b) Give an example of a convergent series > me1 an such that 3°°° a2 diverges.

Hint: Part a) suggests that for an ex: unple in part b) the terins of the series > an cannot be all
positive (or all negative).
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